=2 RE 5 H
4% F 3 Zx
57 % % = 22.8 11 x % = 6.6
39 x % = 15.6 23 x % =115
80 x % =12 13 x % =13
39 x % = 35.1 95 x % = 38
84 x % = 16.8 83 x % = 8.3
48 x % = 43.2 73 x % =29.2
40 x % =4 53 x % = 10.6
47 x % = 23.5 52 x % = 41.6
53 x % = 31.8 39 x % =39
53 x % =159 97 x % =194

www.snowmath.com



https://www.snowmath.com

DRk

w4 H 391

57 x40% = 22.8

39 x40% = 15.6

80 x 90% = 72

39 x90% = 35.1

84 x20% = 16.8

48 x 90% = 43.2

40 x 10% = 4

47 x 50% = 23.5

53 x60% = 31.8

53 x30% = 15.9

11 x60% = 6.6

23 x50% = 11.5

13x10%=1.3

95 x40% = 38

83 x 10% = 8.3

73 x40% = 29.2

53 x20% = 10.6

52 x 80% = 41.6

39 x 10% = 3.9

97 x20% = 19.4
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